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Dopmynvt ougppepernuuposanu.

SHaueHnus PyHKyuu 8 OAHHOU MOUKe:

u(x,)=u

v(x,)=v



3naueHus npou3Bo0HOU (DYHKYUU 8 MOU MOYUKe.
u'(x,)=u'

V’(xo) =’
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=uU'vV+uv

()
(Cu) =C(u)
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f(x)=x"Bx+x’)

[:f(x)=x"Cx+x)=3x"+x
F0)=0Cx"+x) =03x) +(x*) =3-(x’) +5-x7" =
=3.3.x 7" +5x" =9x° +5x* =5x" +9x°.

I:(uv) =u' v+uy',u=x",v=3x+x’

f(x)= (x2 )’ '(3X+x3)+ X -(3x+x3 )'

=2x""- (3x +x° )+ x*- (3 x T +3.x

[ —

=6x" +2x* +3x" +3x* =5x" +9x°.

=2x-3x+2x-x> +x*-3-x" +x°-3x7




f(x)=(2x-3)(1-x")

f(x)=2x-2x"-3+3x’
f(x)= (2x —2x* —=3+3x’ )’ = (2x)’ — (2x4 )’ -(3)' + (3x3)’ .

=2-8x’—0+9x° =—8x’ +9x* +2.




